A R

1. LEA4
THE4 EE 4 3 St s iR T
T4 SRR E I (P MER AR TS )
2. LHEHNE
1)  FHEI4 EEE R EHEE R
2) T f& HEEMER T
3) T £ 365 H [H H SF 64 4H 1H
ER SFn 74 3H31A
4) T EAE

Etrmey R R



TH4 | [EiE 4 3 SR T3
THXSy - TR - FflR AL ¥ & & F il il N
18 e = 48, 631, 779
R T = 9, 156, 836
B - 2 AR T = 9,156,836 |mATIE (A) 50 w

545 30cmA i ;

HASE (B) 50 *
# 8 30ecmPL_E60cmATH ;

HASE (C) 100 *
#E60cmPL_E90cmATH ;

HASE (D) 100 *
25 90cmPL_F120emAR ;

HASE (E) 100 *
#E120emPl_E150emAE ;

HASE (F) 20 *
# 8 150emPL_E180emA ;

EANE (G) 5 w
#E180emPL_E210emA ;

EAE (H) 5 w
#E210ecmld |

HIEATTE EE)  (A) 20 VN
1 100emPl_E200emA i ;

HIEASTE EE) (B) 10 VN
15 200cmPl_E300emA ;

FRETE (A) 10 m2
BT S60emBl L ;

FRETE (B) 2, 000 m2
BT E R S 60emAR ;

ENE (A) 500 w
EA

wx (A) 10 m2
Bt (ff 1)

BRI (A) 5 w
B8 60emA o FANLE F 220

- LA AR R




PR R E

TH4 | ENE 4 3 ST AR L9

THEX4 - TiE - fE5 H Oz ¥ = & M A il ] EN

mABBER (B) 5 ZN
2 JE60cmPl_E120emAKqw ; AL E £ 20

HARBGBR (A) 5
R 100emPL_E200emaAw 5 FANLE F 220

FARBsBR (B) 5 ZN
HE200emPl_E300emAd i ; AT E £ 20

R EAIAT (A) 5 m2
s BANTE £ 720

RARFEAIEA (A) 5 m2
s BANTE £ 720

MHEIRA A (A) 5 m2
s BANTE £ 720

EAMM (A) 3 ZN
F¥AN) H=3.5 C=0.21 W=1.5 ; FAREHE ST

AR (A) 3 ZN
SN VYN A H=0. 4 W=0. 4 ; RERTEIHE S T

AR (B) 3 ZN
BUNE H=0. 3 W=0. 3 ; FEAIEIH ST

AR (A) 3 ZN
# 8 30ecmPL_E60cmATH ;

AR (B) 3 ZN
#E60cmPl_E90cmATH ;

AR (A) 3 ES
Bt E60emll_E100emATRw ;

AR (B) 3 ES
et E100emPh_E200emATi ;

AR (A) 3 ZN
o E60emATH ;

AR (A) 5 ZN
SR AR E T

AR (B) 5 ZN
THSEIRAS  MEEEE

AR (C) 5 ZN
R B R IR R EE & T

-2 - Etrmey R R




H

P

PR R E

TH4 | ENE 4 3 ST AR L9

THEX4 - TiE - fE5 H Az B & & B A ] ] EN
HRSHE (A) 5 Z
W (LA - 71 S E T
HARSFE (B) 5 m
AT MERETEIEE T
T BA M) (A) 5 g
N = HERE20kg /¥
T BA (M) (B) 5 g
FEEE T AIEIRa/E b 20kg/ 4% ;
LR (BTEHE) (A) 5 ZN
bl pEAH 500mL/A
Lw A% MEHE) (A) 5 w
3mm £20m GR)
%L BB (A) 5 m3
EAES L
faxts T 2V 34, 338, 120
R T = 34,338, 120 |[HEARERE (A) 232, 000 m2
Fl A A1
FREL (A) 2,500 m2
BHENTX ROED#ER
FREL (B) 1, 700 m2
AT B BAERE T
SR T = 977, 225
S AR R T = 536, 000 |iAMLERIEZE (A) 20 REfH
JEESABEE (B) 20 RRF [
AT = 441,225 |EET (A) 5 A-H
WiEEER (A) 5 A - H
B u7° Ny iEEs (A) 5 REfH
PAR:
Ny) vy EEEAE) &R (A) 5 REfH
2tE 2t
EPTEEEER (A) 5 A

£y BRAEY T AT b~ Ay MR VESEPR 12,

-3 - Etrmey R R




PR R E

TH4 | ENE 4 3 ST AR L9

THXSy - TR - FflR Bz ¥ & & F il il &) BN

EPTEEEER (B) 5 R[5
Ny BRAEY T BT b~ Ay MR VESEPR B 24m

Ny iR (A) 5 REfH
Je-720  [UAEO. 13m3 (CEF0. 1m3) ;

AR - & E T = 1 508, 100
K T =X 1 508,100 |l (A) 10 H
FANY 1.5L ;
FEAR = 1 2, 636, 098
BAMET N 1 1,623, 148 |BEAHKE (A) 20 *

2 E 20emATH

BIARMZE (B) 5 ZN
#E20emPl_E30cmATH ;

BIARME (C) 5 ZN
# 8 30ecmPL_E60cmATH ;

BIARZE (D) 10 ZN
#E60cmPl_E90cmATH ;

BARME (E) 5 ZN
B2 JE90emPL _F120emAd ;

BIARME (F) 3 ZN
#E120emPl_E150emAE ;

AL (G) 3 ZN
# 8 150emPL_E180emA ;

BIARME (1) 3 ZN
#E180emPL_E210emA ;

BIARME (1) 3 ZN
#E210ecmld |

IHHE (A) 5 ZN
AL

XHHE (B) 5 ZN
HAREEE. (1A - 1)

-4 - Etrmey R R




T4 | EiE4 3 AT SR TF
THEX4y - T - 5 B ¥ & & #m a1l iR
AR (C) 5 m
R AEE
TR ALEE T = 1,012,950 |#&FEHE (A) 10 t
(BIEEA - (REAR) 8
B3R (B) 50 t
(BIEEAR « (RERAR) B3
BZER (C) 5 t
(BIEEA - (REEAR) 1] ;
B3R (D) 50 t
—WRBEEY) AW, BREE
TG an = 1, 015, 400
AREE T = 1,015,400 |ZE7EEEHE (A) 50 A+ H
RiBFHEEME (B) 10 A+ H
ERE T = 48,631, 779
Il = 5, 645, 800
i = 58, 800
v Ry = 58,800 | MEFET —JVERLE 1 =
Il (R L) = 5, 587, 000
i TR = 54, 277, 579
B B = 23, 556, 000
T 5 = 77, 833, 579
— R B = 13, 756, 421
T Ak = 91, 590, 000
-5 - Ezma a5 E




